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Questions

The connection between modern and outside the world is a /an:

Which of the following is the fastest mode of transmission?

Analog signal is measured in;

Computer of a network is called:

Internet is a:

Which is not De Jure Standard?

Which of the following is not a type of protocol?

Which is an example of De Facto Standard?

The device that connects multiple networks using similar or different protocols is;

Which of the following is not a component of LAN?

OSl reference Model has;

NIC Stands for

What layer of OSI Model performs data compression;

A Network that places all nodes on a single cable is called;

FTP stands for
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. Digital

. Analog

. Electrical
. Automatic

Half duplex
Full-duplex
Simplex
None

Hertz
Bit

Volts
None

Bus
Server
Node

ALL above

LAN
WAN
MAN
None of these

SNA

IEEE
ANSI
ISO

Ethernet
CCITT
ARC Net
FTP

ANSI
ISO

SNA
IEEE

Router
Bridge
Gateway
None

Cable
Gateway
Bridge
Modem

. 7 layers
. 6 layers
. 3 layers
. 1 layers

Networks Internal Card

Network Industrial Computer
Networking internet Connections
. Networks Interface Card

Network

. Data link

. Presentation
Physical

Star
Ring

Band
Physical

. File Transfer protocol
. Finis Table Program

. Finding tele path
. Failed Transmission pole






